
SAP ABAP table GENIOSD_LINMONOM {GENIOS: Linear Constraint Monomes}

GENIOSD_LINMONOM

CLIENT [CLNT (3)]

SESSION_ID [CHAR (22)]

CONSTRAINT_ID [INT4 (10)]

VARIABLE_ID [INT4 (10)]

GENIOSD_LINCONST

CLIENT [CLNT (3)]

SESSION_ID [CHAR (22)]

CONSTRAINT_ID [INT4 (10)]

 GENIOSD_LINMONOM-CONSTRAINT_ID = GENIOSD_LINCONST-CONSTRAINT_ID 
0..N

0..N

GENIOSD_VARIABLE

CLIENT [CLNT (3)]

SESSION_ID [CHAR (22)]

VARIABLE_ID [INT4 (10)]

 GENIOSD_LINMONOM-VARIABLE_ID = GENIOSD_VARIABLE-VARIABLE_ID 

0..N

0..N


